AF0 34 A 44 SRR TR
P 3 5 FEAE oD FTAE K OV 3 NS | R HATG A 7S A | M2 Al B (0/3‘
(M /nd) (M /nd)
Al — 1 |ElmRESFAFHES 74 30, 900 30, 700 A 0.6
dlr — 2 |ELm/NE1 26% 15 43,900 43, 600 A 0.7
Al — 3 |EIUMmESFSTEME 3 4 7E1 2 30, 400 30, 200 A 0.7
dll — 4 AU S ETEES 4 9 9% 1 18, 900 18, 700 A 11
il — 5 [HEUmHATSEMIL9 0 7ES5 6 21, 100 21, 000 A 0.5
L — 6 [ HARTRE 3 3 6% 14+ 10, 300 10, 100 A 1.9
Bl — 7 [EILTEFS V10 8F 14 5,990 5, 880 A 1.8
Al — 8 |EUHFAE T FEHE 115 8%&S 8, 000 7, 860 A 1.8
Al — 9 |EUTTHREAFERI 7 7E1 3, 160 3, 100 A 1.9
B 5— 1 [FRELTEET 6 F 61, 700 60, 500 A 1.9
Hell 5— 2 |EUTTHETS 4% 7 50, 200 49, 500 A 1.4
Bl 5— 3 [ HARTRE 3 2 8% 16, 600 16, 200 A 2.4
B 5— 4 [HEELTEATAME L 15 3%/ 34+ 65, 100 65, 100 0.0
¥ — 1 |[EHTHAE4TH2074%9 32, 300 32, 200 A 0.3
HH4—31—5]
¥ — 2 |[EHHHMAE4THS331%104 47, 600 47, 500 A 0.2
HH4—1—32)
¥ — 3 | EHMHEHE4THS843%F15 36, 900 36, 600 A 0.8
M4 —32—16
¥ — 4 [EHHFfEHE3ITH1101%11 33, 300 32,500 A 2.4
FIH3—27—26
¥ — 5 | EHHHMIT1I587%60 34, 200 33, 500 A 20
MBA#RMT 1 1 — 1 0|
EH — 6 [EHWmUBETHEASO021%S8 22,500 22,200 A 1.3
E¥H O — 7 | EHHHEABE1TH19%157 41, 100 41, 000 A 0.2
EH — 8 |[EHHmEERTFA/KT804%F1 2 37, 400 37, 000 A 11
¥ — 9 |EHHER2TH1091%233 33, 900 32,900 A 29
[EF2—4—14]
£ —10 [EEd/EIT\ETE /148 9%5 32, 600 32, 300 A 0.9
o —11 | EHTHASTH621%49 40, 200 40, 000 A 0.5
MH5—-30—8]
¥ —12 |[EBHERTHE2433%4 17, 600 17, 200 A 2.3




AF0 34 A 44 SRR TR
BRI = T HE H 0D FIT7E e OV I QN (T 2 HAT 237~ | HATG 2577 il A% %)
(F/nt) (19/nt)
T —13 |[REmABTIN/ t5 6 2% 10, 900 10, 800 A 0.9
E¥ 56— 1 [EHHEME1ITHES975%39 56, 800 56, 500 A 0.5
LM 1 —8—20])
£ 56— 2 [EFHTHE1ITH2055%F78 64, 300 63, 900 A 0.6
871 —-31—6
EB 5— 3 |[EHFHTH2THS501%4 39, 100 38, 700 A 10
82 —-36— 3
¥ 65— 4 |EHHE2TH2659%&24 41, 800 40, 700 A 26
E2—-11-2]
E¥ 5— 5 [EHFHFEH1ITH3042%44 61, 700 61, 500 A 0.3
M8 1 —-40—3]
EEH 9— 1 [EHFHER3ITH1086%F7 17, 200 17, 300 0.6
EH3—5—2]
AR — 1 [MERTARR ST IR HTH 5 6 2 87 3 7 42, 100 42,000 A 02
R — 2 |SERTEMERE S 4 87 244 33, 300 32, 800 A 15
k| — 3 | —EET3E2 9 49, 900 49, 900 0.0
Ak — 4 |SMMTHEORTE2 1 36, 800 36, 400 A 11
i — 5 |\ TIN 6 4 6% 26, 700 26, 400 A 11
k| — 6 |SMTEAE3 5 7E 30, 400 30, 200 A 0.7
k| — 7 SRR TIRTA36556F7 32,100 32, 000 A 0.3
k| — 8 |EMTMAAE2%FLO 28, 000 27, 800 A 0.7
k| — 9 SR 4 6 6 & 2 15, 500 15, 300 A 1.3
kg —10 SR AR 1 8 2 0F 1 10, 800 10, 600 A 19
k| —11 |G ASEF TR 2 56 4% 3 18, 100 17, 600 A 2.3
i —12 SRS FPA L3 45 6F 1 14, 800 14, 600 A 14
A 5— 1 |SRTHIUERT 3 &2 0 68, 500 68, 500 0.0
AR 5— 2 |SER AR R\ EFERAT 2 2 1 3 &4 43, 100 43, 000 A 02
AR 5— 3 |SER T RET 2 3% 4 44 71, 800 71, 800 0.0
HE — 1 [JHRTIEREII R 6 0 9% 14+ 34, 500 34, 000 A 14
HE — 2 HETARZFEFILR S 3 5% 24+ 20, 600 20, 100 A 24
HE — 3 |HFEHEEI4THLS%S 33, 600 33, 200 A 12




FEHE I D FTAE My ORI NS AR SR =R

4FN 3 4E

HATZ AT

(F/nf)

FN 4 4F

AT AT

(F/ i)

St A A B
(%)

Do

—

FEIR TR 1 9 6 % 3
FETH BHEET S 7 2 3%

HEFAZFET3701%1 3

52, 200

43, 300

11, 000

51, 200

42, 500

11, 100

A 19

A 1.3

S
o

B

MettmiBNE 2 TH10%26

MR 6 TH1# 115

T EM1 18 13%9

vy
o

HHFET EEIES 6 9% 4
MRS A (L5 S T 5 3% 7
iR T T9 7 0% 54

Mertmn T 2 2 1% 14+

AL FIRTF T 9 2 3% 1
BHFFEARAT 773 7&1
WALHRATR 1 2 7 47 1
MG R TR 9 0 9%
wAtH s THO®EL 06
MAtHBERAT2 TH 2% 10 3

[BRE2 —2 — 5|
AT T 14 4 5% 14

=
i

TR TR 8 8 3% 2

&

i

57, 000

58, 600

46, 700

30, 700

39, 800

24, 100

48, 000

43, 500

23, 500

17,500

27, 800

15, 500

10, 200

15, 700

23,000

60, 500

68, 500

43,700

17,900

57, 500

59, 200

47,000

30, 800

40, 100

24, 300

48, 300

43, 800

23, 100

17, 300

27, 800

15, 500

10, 000

15, 700

23,100

61, 200

69, 300

43, 900

18, 100

iy

#

i

xS

i

xS

BT RS 442 7% 3

RSN T AES 4 3% 1

35, 500

44, 400

25, 200

35, 300

43,700

24, 800

A 0.6

A 1.6

A 1.6




SN 34 a4 I
P P H OO P B CRM I ORI 1 7% el 2 i | e 2o g | 2B
_ (M /nt) (F/nd)
mE - TP I | e s / 2 2 2 7% 22, 600 22, 200 A 1.8
- ERTECHT RN % /i 2 8 4 8% 3 15, 800 15, 600 A 1.3
g 5— TR 1 3 3 5% 9 72,900 72, 100 A 11
Em% 5— ERTHRIT1 87 43 1 49, 100 48, 200 A 1.8
% 5— BT FRF R THE28 4% 1 30, 800 30, 100 A 2.3
B — FATEETHH2 40 8%5 38, 500 38, 000 A 1.3
B — B T ER 6 9 5% 9 31, 200 30, 800 A 1.3
R — B TR 1 1 35%8 25, 400 24, 800 A 2.4
A 5— HATEmE2480%13 45, 400 44, 800 A 1.3
figmr — TR M FEENL 6 475 4 26, 500 26, 400 A 0.4
T fifimim = JHMTA1055%1 11, 800 11, 500 A 2.5
T fRITRIRTH 781 03 1% 1 16, 300 15, 900 A 25
fifimn — fEAIT B AT SR E/T N2 23 783 0 26, 100 25, 800 A 1.1
T fifimiTT B AT HAEF2PE2RIT 6 0 89K 1 3 37, 500 36, 800 A 1.9
fifiwl 5— AT LR 3 9% 6 46, 400 45, 400 A 22
fifiwl 5— fERITgHT A /A1 6 6 6 % 14+ 40, 700 40, 200 A 12
fifial 5— fifmimT AT HAETRIT 2 4 1962 0 50, 500 49, 500 A 20
A% — FRETTHHETARBE 9 0 0% 3 2 25, 900 25, 700 A 0.8
g — FRETHAATEH /NS 4 3%6 26, 600 26, 500 A 0.4
g — BTN TEE6 TH2 7% 7 19, 300 19, 200 A 0.5
g — FREFUATEHRE6 TH6E134 15, 400 15, 400 0.0
g — FRETTIBAIFRER 3 1% 1 11, 000 10, 900 A 0.9
HpE  — HEMBILTHEREG6 4 9% 1 24, 300 23, 800 A 2.1
HEE — BREET AT HREL 0079 17, 000 16, 500 A 29
HEE — BETHATAKTIEMG6 3 277 21, 600 21, 200 A 1.9




SF0 34 BAE |
Y B OO FT(E S O A ORI (8 7 2 i | i g | XY A
(F/nd) (F/nd)

BRE — BEETimETAR/ F188%F1 12, 500 12, 300 A 1.6
HEE — HEMSRTICHTFT1544%F1 19, 700 19, 200 A 25
HEE — BERET SRR 3 2 6 & 341 11, 000 10, 700 A 27
HEE — BEETAMFMAIT2 4 6 2% 4 29, 900 29, 800 A 0.3
BT — HETRESRTRE395%85 17, 800 17, 400 A 2.2
BT 5— BERETH LS r T B 3 0 53 1 4+ 30, 000 29, 500 A 1.7
BT 5— HEti%amAKTRM1 8 3764+ 29, 700 29, 100 A 20
BT 5— Bty RTRERL 1 47 28, 000 27, 300 A 25
BT 5— HEMBTRE=AH149%F%1 41, 800 41, 800 0.0
EE — EETGRFE I 25 4% 4 24, 500 24, 000 A 20
EE - EETARTREER 7 2% 15, 100 14, 800 A 20
ERfE 5— EIETHR TRy 2% 1 46, 600 45,700 A 1.9
wH - EATAEHT 5 REM 70 0%5 42, 800 42,900 0.2
wA - AT T 7 2 TH2 4% 34, 900 34, 800 A 0.3
&H - EATEKITRE419%9 29, 700 29, 600 A 0.3
&0 — EATIR AT % REH1 0 1 23 31, 400 31, 500 0.3
wA - EATELTHIBH 8 0 1 & 15, 900 15, 800 A 0.6
#O 5— EOTEKITRE294%3 4 43, 500 43, 100 A 0.9
#O 5— EOTHIR IS A REMIE 9 6 9% 50, 200 50, 200 0.0
s — FIEEFI ST R I TA /12 3 4% 6 18, 700 18, 400 A 1.6
& — FIREFIRIT AT 3 3 6 3% 3 10, 600 10, 500 A 0.9
s 5— FOACRRFI <R & 1R 6 0 7% 5 34, 000 33, 600 A 1.2
BE - AR SIS TREE 1 4 5% 4 61, 200 61, 800 1.0
B - ARERR R SR T 2 0% 7 47, 000 47, 000 0.0
B — ARERS R SR RS TR 24 7 2% 8 49, 300 49, 500 0.4




R34 TRAE | e
BERH BRSO FTE R OH AN 2 2 i | i g | XY A
(M /nt) (M /nt)
R b— 1 [WERRBITR TN 1 36 5% 62, 000 62, 600 1.0
BE — 1 [RARHEENRTFHES V-2 VAR 7T3HT 43, 900 44, 000 0.2
BE — 2 |[ERAOBHEETRFERLFHRE6 72 1F 28, 100 27, 800 A 11
BHE 5— 1 [BOBHEENRFHETFRKIC 286 1F%9 43, 900 43, 900 0.0
FH — 1 NEERBETIRETFH208 6% 1 22, 800 22,600 A 0.9
K — 2 |NEERCRBMETNETAEE RS 57 373 14, 600 14, 400 A 1.4
FHh 5— 1 [INHEESREHITRHEHTFIT2 6 0 0% 31, 400 31, 300 A 0.3
8 — 1 | EASESET S TEE3 5 9% 10 19, 800 19, 700 A 0.5
BB — 2 | mERGEERET B 1 1 3 27 5, 360 5, 280 A 15
SEEF 65— 1 |/ MAREEEPR] PR S FHIATE K 5 59 146 24, 500 24, 500 0.0
Bk — 1 |BSHESS RETRER H 15K H 9 0% 8 33, 700 33, 700 0.0
e — 2 |BSHEBSRETEFEREE9 7 371 8 21, 800 21, 500 A 1.4
e 9— 1 |BEHEENS T RS 1 8% 12, 100 12, 100 0.0
g — 1RSSR TRERER2 11 1%27 9,470 9, 390 A 0.8
FfRS — 2 RS i P BTN TS T 1 5 4 6 Sk 3, 680 3, 620 A 1.6
i 5— 1 [INEARE T RETH e %310 9F 14+ 7,290 7, 160 A 1.8
(FE) %%, HOLFR A LY & 3@ 9 D AR e




